o
0s
000°0zs
PIA ETOZ ==
20UB1SISSEe AfYIUoW £T07 =F= 000°0%$ W.
panosddy piA 4107 == 000°09% B
(=)
> [1+]
panrouddy AfIUOW FT0T e 000088 m
.nuu..
000°001S &
000'0ZTS
000'0FES
SpuaJ] asuelsissy diysumoy
TO9'8ITS <£06°6S LY Y0TvS TELBTTS £eeeTs Jaquisdsq
T/8'S0TS 69t'6S t 935'cs 86S90TS 8/09% JaquianoN
vi8'86S  I¥L0TS ag £ov'ss TTS'00TS 198°6S 1240320
16488  tE£Z'SS 145 00k 7S 08065 96’ LS Iaquisydag
TES'ERS  E€TL'8S 6¢ 8€9'TS S68°78S 85688 1sn8ny
6I8TLS 0L2°6% 9z 010'cS TEL'€sS 7T1'8s Anr
675698 SHZT'6S ¥4 ¥00°eS £€T/'99% zoT'ss aunr
LTV9SS  £86°0TS Tz 0965 0S5 T89S L8E'8S Aeln
8/T'sPS  9ZT'STS 8T £85°9% £18°e5S 8/8ETS jdy
7S6'6T7S £89°TTS €T LO8'PS ¥68°3€S TIFITS YaIen
9Sg8°LTS  TI6'WS L ST6'ES £V LTS ¥RT'ETS Aenugay
9zZO'vIS  9ZOVIS T £99°¢S : G6EVIS G6EFTS . Asenuer

PIA €TOZ: Alyluow €TOT  S|RIOL [BMS4SY ¥TOZ  PaIUag Alyiuow $107  pancuddy prAvToz  parciddy Ajyuow y10z7

N, g



